
Primitive 𝑭 Fonction 𝒇 Dérivée 𝒇′ 

 𝟏𝟐𝒙𝟐 − 𝟔𝒙 + 𝟏  

  𝟔𝟎𝒙𝟑 − 𝟐𝟒𝒙𝟐 + 𝟔𝒙 − 𝟏𝟒 

 𝟗𝒆𝟏−𝟑𝒙 − 𝟐  

𝐜𝐨𝐬 (𝟑𝒙 +
𝝅

𝟐
)   

 𝟗 𝐬𝐢𝐧(𝟑 − 𝒙)  

  𝟖 𝐜𝐨𝐬(𝟐𝒙) 

 
𝟐𝒙

𝒙𝟐 + 𝟏
  

 



Primitive 𝑭 Fonction 𝒇 Dérivée 𝒇′ 

 𝟏𝟐𝒙𝟐 − 𝟔𝒙 + 𝟏  

  𝟔𝟎𝒙𝟑 − 𝟐𝟒𝒙𝟐 + 𝟔𝒙 − 𝟏𝟒 

 𝟗𝒆𝟏−𝟑𝒙 − 𝟐  

𝐜𝐨𝐬 (𝟑𝒙 +
𝝅

𝟐
)   

 𝟗 𝐬𝐢𝐧(𝟑 − 𝒙)  

  𝟖 𝐜𝐨𝐬(𝟐𝒙) 

 
𝟐𝒙

𝒙𝟐 + 𝟏
  

 



Primitive 𝑭 Fonction 𝒇 Dérivée 𝒇′ 

𝟒𝒙𝟑 − 𝟑𝒙𝟐 + 𝒙 𝟏𝟐𝒙𝟐 − 𝟔𝒙 + 𝟏 𝟐𝟒𝒙 − 𝟔 

𝟑𝒙𝟓 − 𝟐𝒙𝟒 + 𝒙𝟑 − 𝟕𝒙𝟐 𝟏𝟓𝒙𝟒 − 𝟖𝒙𝟑 + 𝟑𝒙𝟐 − 𝟏𝟒𝒙 𝟔𝟎𝒙𝟑 − 𝟐𝟒𝒙𝟐 + 𝟔𝒙 − 𝟏𝟒 

−𝟑 𝒆𝟏−𝟑𝒙 − 𝟐𝒙 𝟗𝒆𝟏−𝟑𝒙 − 𝟐 −𝟐𝟕 𝒆𝟏−𝟑𝒙 

𝐜𝐨𝐬 (𝟐𝒙 +
𝝅

𝟐
) −𝟐 𝐬𝐢𝐧 (𝟐𝒙 +

𝝅

𝟐
) −𝟒 𝐜𝐨𝐬 (𝟐𝒙 +

𝝅

𝟐
) 

𝟗 𝐜𝐨𝐬(𝟑 − 𝒙) 𝟗 𝐬𝐢𝐧(𝟑 − 𝒙) −𝟗 𝐜𝐨𝐬(𝟑 − 𝒙) 

−𝟐 𝐜𝐨𝐬(𝟐𝒙) 𝟒 𝐬𝐢𝐧(𝟐𝒙) 𝟖 𝐜𝐨𝐬(𝟐𝒙) 

ln (𝒙𝟐 + 𝟏) 
𝟐𝒙

𝒙𝟐 + 𝟏
 

𝟐 × (𝒙𝟐 + 𝟏) − 𝟐𝒙 × 𝟐𝒙

(𝒙𝟐 + 𝟏)𝟐
=

𝟐𝒙𝟐 + 𝟐 − 𝟒𝒙𝟐

(𝒙𝟐 + 𝟏)𝟐

=
−𝟐𝒙𝟐 + 𝟐

(𝒙𝟐 + 𝟏)𝟐
 

 

 


